
 

INTER-PLAY 

tel. +48 91 506 50 41, export@inter-play.eu, www.inter-play.eu 

Installation instruction for Street Workout 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

30cm 

 

     

 

 

    50cm 

 

 

    

 50cm 

1 2 3 4 5 6 



List of elements 

Position Quantity Number of part Description 

1 4 Plastic cover 

2 2 ISO 10511 Nut 

self-locking M12 

3 4 DIN 125 Washer M12 

4 4 Plastic washer 

5 4 DIN 440 Washer M12 

6 1 Flat bar 210x70x6 

7 1 Rubber washer 

72x212 

8 2 M12x120 kl. 8.8 hexagon bolt M12x120 

9 1 Profil 80x80x3 

10 1 Pipe fi 42,4x3,2 

INTER-PLAY
Tel.: +49 (0) 170 6551 287, www.inter-play-spielplatzgeraete.de, info@inter-play-spielplatzgeraete.de



Order of assembly: 

1. Choose a place for the device, bearing in mind that there should a safety area, different for each

model. 

2. Remember about a safe surface (eg earth, sand, fine gravel, lawn), also in the protection zone

around the device. 

3. Dig the foundation pits for the device.

4. Assemble the device and insert the poles into the dug foundation pits.

5. Place from the bottom (eg with stones) so that the poles are buried and stabilize the entire

structure. 

6. Flood the foundation pits with B-20 concrete.

7. Again we check if the device is properly stabilized (horizontal, vertical).

8. We secure the area and wait a few days (depending on the weather, season) for the concrete

foundations to harden. 

9. After the concrete has hardened, cover (cover) the foundations with the top layer of the

pavement, 30 cm thick. 

10. The device can be put to use.

INTER-PLAY
Tel.: +49 (0) 170 6551 287, www.inter-play-spielplatzgeraete.de, info@inter-play-spielplatzgeraete.de


